run_13101038 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Apr 10 13:35:33 2012

[ADC for FGT RDO=1,ARM=0,APV=0 }

ADC-ped

o
=)

2000

[>]
<]
&

for FGT RDO=1,ARM=0,APV=1 l

3000

4000
raw ADC

C-ped

= AD
15}

1000 2000

[ADC for FGT RDO=1LARM=0,APV=2 }

3000 40(

raw ADC

1000 2000

[ADC for FGT RDO=1,ARM=0,APV=3 }

3000 40(

raw ADC

ADC-ped

1000

2000

ADC for FGT RDO=1,ARM=0,APV=4 l

3000

4000
raw ADC

1000

2000

3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=0,APV=0_}

o 4000 p—
2 =
o =

g 3500 fm— v e e e e .|
i =

3000 fm— v e e e e .|
=

2500 fm— - s s s n s .
=

2000 s e e e e .
=

1500 fm— v v e e e man et o

I -
=
=

5 |==ocozas00050a .
=
=

0 = s ¥

= i R ; : ; i
0 20 20 - i i i
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=1 "}
= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0 f=—
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. A .4 e i E.d Nl

10

107

10

10

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 13:37:49 2012

[ADC MPV for RDO=1ARM=0,APV=0__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 13:38:23 2012

[ADC RMS for RDO=1,ARM=0,APV=0_ J

RMS (ADC-ped)

100 |r

40 [

20 |+

80 |+

60 [-

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=1 "}

RMS (ADC-ped)

120 |
100 [r
80 |+

60 |-

20 [

40 [~

1
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=2 "}

RMS (ADC-ped)

180 |

160 =

140 f—

120

100

80

60

40

20

0

i
120

APV channel

[CADC RMS for RDO=1,ARM=0,APV=3__}

RMS (ADC-ped)

140

120

100

80

60

40

20

L
= °
— : .
= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=4 "}

RMS (ADC-ped)

160 f—

140

120

100

80

60

40

20

0

20 40 60 80 100 120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA

Tue Apr 10 13:35:37 2012

[ADC for FGT RDO=1,ARM=0,APV=5 }

ADC-ped

=
15}

2000

[ADC for FGT RDO=1,ARM=0,APV=6 }

3000

4000
raw ADC

ADC-ped

=
Q

0 1000 2000

[ADC for FGT RDO=1LARM=0,APV=7 }

3000 4000

raw ADC

ADC-ped

=
1)

0 1000 2000

[ADC for FGT RDO=1,ARM=0,APV=8 }

3000 4000

raw ADC

2000

ADC for FGT RDO=1,ARM=0,APV=9 l

3000

4000
raw ADC

ADC-ped

=
15}

0 1000

2000

3000 4000

raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

APV channel

[ ADC for FGT RDO=1,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—- - -
< =
3000 f=—- - -
=
2500 f=— - - -
=
2000 f=—-- -
=
1500 f=——- - -
1000 p=——- - -
=
500 f=— - -
=
oE—-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=0,APV=8 }
- 4000 p—
5] = . . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=0,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.4 ... 4 m.o.d .0 .2

10

10°

10

10°

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 13:37:50 2012

[ADC MPV for RDO=1ARM=0,APV=5__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=1,asmb=1DA
Tue Apr 10 13:38:24 2012

[CADC RMS for RDO=1,ARM=0,APV=5__}
180

160

140

RMS (ADC-ped)

120

100

Tl IH[I‘I‘I'|111]IH

80

60

40

20

<3-|-I‘|‘HI|IIIH-I--I'I-H

L i i i
20 40 60 80 100 120
APV channel

0

[ ADC RMS for RDO=1,ARM=0,APV=6 }

RMS (ADC-ped)

1
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=7 }

RMS (ADC-ped)

i
120
APV channel

160 fi—

140 f—

RMS (ADC-ped)

120

100

80

60

40

20

0

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=9 "}

140

120

RMS (ADC-ped)

100

80

60 [

40

20 T : Nl : i 1 I o Ry R

APV channel




run_13101038 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 13:35:41 2012

ADC for FGT RDO=1,ARM=0,APV=12

C-ped

HAD(
3

1000 2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=0,APV=13

o -
3
[
o
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
[ abc for FGT RDO=LARM=0APV-14 }
5
3
[
o
a
<
10°
10
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=0,APV=15 |
5
3
[
)
a
<
10°
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=LARM=0.APV=16
o
3
[
o
a
<
10°

3000
raw ADC

40(

[[ADC for FGT RDO=1,ARM=0,APV=12 }
= 4000 p—
] =
i =
Q 3500 f— -
< =
3000 f=——
=
2500 f=—1
=
2000 = -
=
1500 f=— |
1000 = -
=
500 f—
=
=
0=
=
0
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=13 "}
= 4000 p—
g = 8 8 8 8 8 2
9 3500 f=—
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=0,APV=14 "}
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—|- - -
< =
3000 f=—|- - -
=
2500 f=—1- - -
=
2000 f=——|- - -
=
1500 f=——|- - -
1000 p=——|- - -
=
500 f=—|- - -
=
o=
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=0,APV=15 }
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
ofE—
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=0,APV=16 l
= 4000
Q 3500
<

3000

2500

2000

1500

1000

500

0

°Tm]|r|1|r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|1rr|

APV channel

... ... .4 m.. o d .8 N

10°

10°

10

10

10




run_13101038 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 13:37:51 2012

[ADC MPV for RDO=1ARM=0,APV=12_}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=13 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=16 }

MPV (ADC-ped)

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 13:38:25 2012

[ADC RMS for RDO=1,ARM=0,APV=12__}

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=13 "}

RMS (ADC-ped)

180

160

140

120

100

80

60

40

20

|m-|1n il II¢|‘I-1+|-H‘I1+I+rI‘H-|-FH
.

APV channel

[ ADC RMS for RDO=1,ARM=0,APV=14 "}

RMS (ADC-ped)

140

120

II'|'I'H

100 f
80 |+
60
wf

20 |-

=
0

APV channel

[CADC RMS for RDO=1,ARM=0,APV=15__}

RMS (ADC-ped)

180 =

160 p—

140
120 |
100

80 =

60 [
40

20

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=0,APV=16 }

RMS (ADC-ped)

200 f=
180
160 =
140
120 &
100 f=
80
60

40 B3

20

0

APV channel




run_13101038 FGT_ ADC_1,Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 13:35:45 2012

ADC for FGT RDO=1ARM=0,APV=17 _§

[

1000

2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=0APV=18 _§

= ADC-ped

15}

0

1000

2000 3000 4000
raw ADC

[ Apcfor

FGT RDO=1ARM=0,APV=19 __§
—

ADC-ped

o
15}

1000

2000 3000 4000
raw ADC

[ ADC for

FGT RDO=1,ARM=0,APV=20

ADC-ped

.
15}

0

1000

2000 3000 4000
raw ADC

for

FGT RDO=1ARM=0,APV=21 _J|

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=0,APV=17_J

APV channel

" 1
60 80 100 120
APV channel

= 4000 p—
5] =
iy =
Q 3500 fm—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 f=——
=
500 f——
=
=
o=
= i
0 20
[ ADC for FGT RDO=1,ARM= =18
= 4000 p—
] = 5
& =
8 3500 =
< =
3000 f=—
=
2500 f=——
2000 fm/——
=
1500 f=—
=
1000 P=—
=
500 f—
=
0 ==
E_. . i
0 20
[ ADC for FGT RDO=1,ARM=0,APV=19
= 4000 p—=
] = 5
2 I= i
Q 3500 = e e e
% =
3000 - - - - - - -
=
2500 = - - - - - - -
=
2000 = -
=
1500 f=—-------
1000 f=—-------
=
500 = e - - - e e
=
() = STre
= i
20
[ ADC for FGT RDO=1,ARM=0,APV=20
= 4000 p—
5] = .
& =
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

60 80 100 120
APV channel

° nrl]lrn|r|1|[|1|r|1|r|]n|1

[ ADC for FGT RDO=1,ARM=0,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

40

60 80 100 120
APV channel

APV channel

. . d e d Een.AdA A

10°

10

10°

10°

10°




run_13101038 FGT_ MPV_1,Timebin=2,Disc=1,asmb=1AB
Tue Apr 10 13:37:52 2012

[ADC MPV for RDO=1,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=0,APV=19 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=0,APV=21 "}

MPV (ADC-ped)

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13101038 FGT_RMS 1,Timebin=2,Disc=1,asmb=1AB

Tue Apr 10 13:38:27 2012

[ADC RMS for RDO=1,ARM=0,APV=17 _}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=18 "}

APV channel

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=0,APV=19 |

APV channel

140 |

120 |-

RMS (ADC-ped)

100 P

804—

i i i
20 60 80 100 20

[CADC RMS for RDO=1,ARM=0,APV=20 _}

20

APV channel

= =
g —
3 120 =
o —
2 o
o 100 f—
= [
['3 —
—
80 |-
60 [
=
40 b—
20 b—
=
[—
1

[ ADC RMS for RDO=1,ARM=0,APV=21 "}

APV channel

140

120 |

RMS (ADC-ped)

100 [
80
oo |
a0 =

—
20

0

120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA

Tue Apr 10 13:35:50 2012

[ADC for FGT RDO=1,ARM=1,APV=0 }

C-ped

= AD!
15}

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=1 }

ADC-ped

I~
15}

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=LARM=1APV=2 }

ADC-ped

o
=)

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=1,APV=3 }

ADC-ped

o
=3

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=1,APV=4 l

ADC-ped

=
15}

1000

2000 3000 40(

raw ADC

[ADC for FGT RDO=1ARM=L,APV=0_}

= 4000 p—
] =
& =

Q 3500 f— - -
< =

3000 f=— - -
=

2500 f=— - -
=

2000 fm—— - -
=

1500 f=—— - -

1000 p=— - -
=
=

500 p=— - -
=
=

==

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=1 }
= 4000 p—
] = . . . . . .
5 =
8 3500 fm——- -
< =
3000 f=—— - -
2500 fm— - -
2000 f/— - -
=
1500 f=— - -
=
1000 f=— - -
=
500 f—
=
==
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=2 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
U=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=1,APV=3 }
- 4000 p—
5] =
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
opE—
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.1 .. 4 m.. .4 o0 Kl

107

10°

10

10°

10




run_13101038 FGT_MPV_1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 13:37:54 2012

[ADC MPV for RDO=1LARM=L,APV=0_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=1 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 13:38:28 2012

[ADC RMS for RDO=1LARM=L,APV=0 J

RMS (ADC-ped)

250 [

200

150

100 [r

50

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=1 }

RMS (ADC-ped)

220
200
180
160
140
120
100
80
60
40
20
0

°'IH|1IT|HI THTAT I'FI-ﬂﬂ:{IH[IHFHP

[ ADC RMS for RDO=1,ARM=1,APV=2 "}

RMS (ADC-ped)

200 P=

180 &

160 =

140

120 |5
100
80 F

60

40 =

20

0

APV channel

RMS (ADC-ped)

200

180 f—

160

140

120 &

100

80

60 |

40

20

0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=4 "}

RMS (ADC-ped)

250 o

120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 13:35:54 2012

[ADC for FGT RDO=1,ARM=1,APV=5 } [ ADC for FGT RDO=1,ARM=1,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=6 } [ ADC for FGT RDO=1,ARM=1,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=1APV=7 } [ ADC for FGT RDO=1,ARM=1,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=1,APV=8 } [ ADC for FGT RDO=1,ARM=1,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=1,APV=9 } [ ADC for FGT RDO=1,ARM=1,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2DA

2,asmb

iIsc=

2,D

In=

imeb

Tue Apr 10 13

run_13101038_FGT_MPV_1,T

:55 2012

37

TARM=1APV=5_ }

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=6 }

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=1,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=1APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2DA
Tue Apr 10 13:38:29 2012

[CADC RMS for RDO=1ARM=L1,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=1,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB

Tue Apr 10 13:35:55 2012

ADC for FGT RDO=1,ARM=1,APV=12

ADC-ped

=
°N

3000

0 1000 2000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1.APV=13 |
L -
3
[
o
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=LARM=1APV=14 |
5
3
[
o
a
<
10?
10
1
1000 2000 3000 4000
raw ADC
[ ADC for FGT RDO=1,ARM=1,APV=15 |

1000

2000

3000 4000
raw ADC

ADC for

FGT RDO=1,ARM=1,APV=16

3000 40(
raw ADC

[[ADC for FGT RDO=1,ARM=LAPV=12 }
= 4000 p—
] =
i =
Q 3500 f=——
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
= 8
500 fm—— E
= 8
= 2
0 f—= -
= i i i i i i
0 20 40 60 80 100 12
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=13 "}
= 4000 p—
] = . . . . .
= = i
8 gD [i=—p =g o000 deocsc0000050050905psc00005500boasaqefec0095005095005504p095005055005500005500509500550990354(050950
< =
E L e T T e T B P E PR R RTY S T
Bl e TR e P L E T S T S PP PP
B e e e ] A P ] A PR R TP PP PP SR
=
1500 P e = = e s
=
L e A e P S T P TP P PEE CEE
=
500 f=—|- - - EERREE
=
L e e E
=L . . i . . . i . . . i . . . i . . i . . . .
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=1,APV=14 }
= 4000 p=
] = . . . . . .
2 = 8 8 8 8 8 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 40 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=15_}
= 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=——
=
=
=
=
0 20 40 60 80 100 120
APV channel
| ADC for FGT RDO=1,ARM=1,APV=16 l
= 4000
2 0 0 0 0 0 g
&
Q 3500 L EEEEELELLE 2o
<

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

w4 ... 4 N, 4 .0 K0

107

10

10

10

10°




run_13101038 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 13:37:55 2012

[ADC MPV for RDO=1ARM=LAPV=12_}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500 " " " " " " " " " " " " " "
20 40 ) a0 100 120

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 13:38:29 2012

[ADC RMS for RDO=1,ARM=LAPV=12__}

RMS (ADC-ped)

180

160 f—=

140

120

100 =

80

60 [=

2 f

20

0

=
0

i
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=13 "}

RMS (ADC-ped)

180

160 f—
140 f—
120 [
100 f=
=
80 =

60

40 E

20

0

b—
=
= 1
0 120

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=14 "}

RMS (ADC-ped)

180

160 f=—

140

120 f=

100 f=

80

60 |

40 |

20

0

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=15__}

RMS (ADC-ped)

160 =

140

120

100 f=

80

60

40

20

0

i i
20 40 60 80 100 120
APV channel

RMS (ADC-ped)

200 [
180 =
160 p—
140 F

120
100
80

60 [

40

20 =

0

i
120
APV channel




run_13101038 FGT_ ADC_1,Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 13:36:00 2012

ADC for FGT RDO=1ARM=LAPV=17 _§

ADC-ped

.
15}

[ 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=18 _§

0 1000 2000 3000 4000

raw ADC

[L_AoC for FoT RDO=1.ARM=1.APV=10 _§
—

1000 2000

raw ADC

ADC for FGT RDO=1ARM=1,APV=20 |

ADC-ped

=
15}

|
i
0 1000 3000 4000

raw ADC

ADC for FGT RDO=1ARM=1APV=21 _§

ADC-ped

.
5}

0 1000

2000 3000 4000

raw ADC

[[ADC for FGT RDO=LARM=LAPV=17_J
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Py
lw)
O
|
p=
X
<
|

[ ADC for FGT
4000

p=
T
<]
11
=)
|
b

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=1,APV=19 }

1
120
APV channel

= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=—- e e - ..
% =
3000 f=—|- - - - - - - ..
=
2500 f=—1- - - - - - - .-
=
2000 = PR
=
1500 =+ - - - - - - .-
1000 p=— = - - -~ .-
=
500 f=— e - - - e e ..
=
oE e
=
APV channel
[[ADC for FGT RDO=1,ARM=1,APV=20 }
= 4000 p—
5] = 5
o = 2
Q 3500 FE—1- {1 aoafbacadbdfoses .
< =
3000 f/—|-{-{-- - PR R B . dboooo
2500 fp=—y-{-{- -1 - PR R 1 P dooas
2000 p/—|-{-1- -+ - R A Y P B
=
1500 f—|-{-1- -t - soobacadbdoace .
1000 P=—|- - {- -t -r-- - dqe b g e
= 2
= 2
500 == - {-=por e s els e L e
= 2
[l el I B S R PR B e B B -
= 2
= i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=1,APV=21 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.4 m..d moood E.. 4 S

10

10°

10

10

10




run_13101038 FGT_ MPV_1,Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 13:37:56 2012

[ADC MPV for RDO=1ARM=LAPV=17 J

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=18 "}

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=1,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=1,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Tue Apr 10 13:38:30 2012

[ADC RMS for RDO=1,ARM=LAPV=17 _}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=1,APV=18 "}

250

RMS (ADC-ped)

200

150

il rr[rrrr[rrr

100 f : 1149 ; 11+~

50 : g EEE I R E A 4 Y o R N e e F B H N D E P APPSR N0 B B 444--=

1
120
APV channel

[ ADC RMS for RDO=1,ARM=1,APV=19 }

]1'I'I'

250

RMS (ADC-ped)

200

150

100

50

BRI AT FEITTTT

i
120
APV channel

[ADC RMS for RDO=1,ARM=LAPV=20 _}

250 p——vrariaon -

200 f——-v---- -

RMS (ADC-ped)

150 f—vn e - -

100
50 - - - 17 -
é J-|
=
0

[ ADC RMS for RDO=1,ARM=1,APV=21 "}

i
120
APV channel

220

=
200
180

RMS (ADC-ped)

160

140
120

100 [

80

60

40
20

0

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Tue Apr 10 13:36:04 2012

[ADC for FGT RDO=1,ARM=2,APV=0 }

C-ped

= AD
Q

2000

3000 4000

raw ADC

[ADC f

for FGT RDO=1,ARM=2,APV=1 l

ADC-ped

=
Q

0

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=LARM=2,APV=2 }

1000

2000

3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=2,APV=3 }

0

1000

2000

3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=4 l

0

1000

2000

3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=2,APV=0

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=2,APV=1

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

= : 10
=1 I N S AT I S O
=
= : 1
=1 R R B R I A | B
= .
o= il I A - N i b e N i
=i I N Y T I RSO I A B
= 2 10"
= o
=11 77 """ R B (el o SEpeeesasa
= . .
= -1=t=F- - B B S R R | —sfp=tesces
= L L L L i i
0 20 40 60 80 100 12
APV channel

10

rm
m
rm:
rm:
L
b=
=
L
b=
=
L
b=
=
=
I
0

. . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=2

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

aEldEIATERIAGNATGRAARNARRARRIATENATRNATENAG]

== = = S 107

1 1 1 1 1
20 40 60 80 100 120
APV channel

[[ADC for FGT

RDO=1,ARM=2,APV=3

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

il

10

© TR AT TR AT IT

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=4

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

10

R i RIE RN AR IGRN AR AIGRI RN AT RN AR ATENATRNAT]

. . . . . i . . i . . i . i . . i .
2 40 60 80 100 120

APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Tue Apr 10 13:37:57 2012

[ADC MPV for RDO=1ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Tue Apr 10 13:38:31 2012

[CADC RMS for RDO=1,ARM=2,APV=0__J

RMS (ADC-ped)

200
180
160
140
120
100
80
60
40
20

0

SR PFETTFFETIPFETY I-I'H:H'HIH-I

i
120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=1 "}

RMS (ADC-ped)

1 " " " 1
100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=2 "}

RMS (ADC-ped)

250

APV channel

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=4 "}

RMS (ADC-ped)

300

250

200

150

100

50

oFF

120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Tue Apr 10 13:36:08 2012

[ADC for FGT RDO=1,ARM=2,APV=5 }

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=6 }

ADC-ped

I~
15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1LARM=2,APV=7 }

ADC-ped

o
15}

0 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=8 }

ADC-ped

o
15}

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=1,ARM=2,APV=9 l

ADC-ped

=
1)

1000

2000 3000 40(

raw ADC

[ADC for FGT RDO=1,ARM=2,APV=5 }
4000

3500

ADC-ped

3000
2500

2000

1500

1000

500

| .

0

© AR R R A

N
NE-.

APV channel

[ ADC for FGT RDO=1,ARM=2,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=7 }

- 4000 p—=
] =
o =
Q 3500 =+ - -
< =
3000 = - -
=
2500 f=—r- -
=
2000 f=— - -
=
1500 f=— - -
1000 pP=—- - -
=
500 f=—r - -
=
o=+
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=2,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=2,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

... m..Ja me.d m.d WA

10°

10

10

10°

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Tue Apr 10 13:37:59 2012

[ADC MPV for RDO=1ARM=2,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3DA
Tue Apr 10 13:38:33 2012

[CADC RMS for RDO=1,ARM=2,APV=5__}

250 |

RMS (ADC-ped)

200 [+
150

100 [

50 [+

[ ADC RMS for RDO=1,ARM=2,APV=6 }

=
g 200 f=
Q
2 180 f—
2 160 [
'3

140

120
100
80
=
60

40

20

0
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=7 }

220 p=

=
200 =
180
160

RMS (ADC-ped)

140
120
100

80

60

40
20

fi:

[CADC RMS for RDO=1,ARM=2,APV=8__}

0

Miiliiliiiits

160 f—

140

RMS (ADC-ped)

120

100

80

60

40

20

0

[ ADC RMS for RDO=1,ARM=2,APV=9 "}

220
200
180 =

RMS (ADC-ped)

160
140 =
120
100
80 f.
60
40

20
0

APV channel




run_13101038 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 13:36:12 2012

[ ADC for FGT RDO=1,ARM=2,APV=12 | [ ADC for FGT RDO=1,ARM=2,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=13 | [ ADC for FGT RDO=1,ARM=2,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1ARM=2,APV=14 | [ ADC for FGT RDO=1,ARM=2,APV=14 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=2,APV=15 | [ ADC for FGT RDO=1,ARM=2,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=2,APV=16 | [ ADC for FGT RDO=1,ARM=2,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13101038 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB

Tue Apr 10 13:38:00 2012

[ADC MPV for RDO=1ARM=2,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=2,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=2,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=2,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 13:38:34 2012

[ADC RMS for RDO=1,ARM=2,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=2,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 13:36:14 2012

ADC for FGT RDO=1ARM=2,APV=17__§ [ ADC for FGT RDO=1,ARM=2,APV=17 |

1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1ARM=2,APV=18 _§

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=LARM=2,APV=19
—

ADC-ped

o
=)

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=20

ADC-ped

o
=3

i H
| i
0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=2,APV=21 _§

= ADC-ped

15}

idi
1000 2000 3000 40(
raw ADC

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=

4000

APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=1,ARM=2,APV=19 }

4000

1
120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

L LN LA A L A A A i

[[ADC for FGT RDO=1,ARM=2,APV=20 }

4000

80

APV channel

il

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© T TR AT TR AT

[ ADC for FGT RDO=1,ARM=2,APV=21 }

4000

40

80

120
APV channel

3500

ADC-ped

3000

2500

2000

1000

500

0

rm
ke
=
ke
=
=
1500 [
=
rm:
I
=
rm
=
=
0

APV channel

... .4 .l WA L

10

10°

10

10°

10



run_13101038 FGT_ MPV_1,Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 13:38:00 2012

[ADC MPV for RDO=1ARM=2,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=18 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=2,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

APV channel

MPV (ADC-ped)

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=2,APV=21 "}

MPV (ADC-ped)

1500 |+

1000 [+

-500

-
Q

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3AB
Tue Apr 10 13:38:34 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

250

200

150

100

50

-0 XEEECO00IIEECOO3 AN

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

250

200

150

100

50

i
120
APV channel

S - IEECOIXECOOXECOONEEL]

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

250 [
200 |r

150 p

100 |r

50 |-

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

350

300

250

200

150

d{TTTTTTETF r||||||||||111

100

50 |

i
120
APV channel

0




run_13101038 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA

Tue Apr 10 13:36:18 2012

[ADC for FGT RDO=1,ARM=3,APV=0 }

1
[ 1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=1 }

o ADC-ped

0.6f--

0.2~

1
0 1000 2000 3000

[ADC for FGT RDO=LARM=3,APV=2 }

4000
raw ADC

04f--

i
1000 2000 3000

ray

[ADC for FGT RDO=1,ARM=3,APV=3 }

4000
w ADC

1
0 1000 2000 3000

ADC for FGT RDO=1,ARM=3,APV=4 l

4000

raw ADC

0.2~

Il
0 1000 2000 3000

4000

raw ADC

[ADC for FGT RDO=1,ARM=3,APV=0_}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

APV channel

[ ADC for FGT RDO=1,ARM=3,APV=1

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

" 1
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=2 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=3,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 &

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=3,APV=4 "}

ADC-ped

4000

3500

3000

2500

2000

1500

1000

500

0

APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Tue Apr 10 13:38:01 2012

[ADC MPV for RDO=1ARM=3,APV=0_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 20 60 80 100 120

-500

[ ADC MPV for RDO=1,ARM=3,APV=1 }

APV channel

[
1500 |+

MPV (ADC-ped)

1000 [+

500 fr—— - s .

-500

[ ADC MPV for RDO=1,ARM=3,APV=2 }

120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3 APV=3 _}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=4 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Apr 10 13:38:35 2012

[ADC RMS for RDO=1,ARM=3,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Apr 10 13:36:20 2012

[ADC for FGT RDO=1,ARM=3,APV=5 } [ ADC for FGT RDO=1,ARM=3,APV=5 |
4000

3500

ADC-ped
ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

10

[ 1000 2000 3000 4000
raw ADC APV channel

[ADC for FGT RDO=1,ARM=3,APV=6 } [ ADC for FGT RDO=1,ARM=3,APV=6 }
4000

3500

ADC-ped
ADC-ped

3000

2500

2000

1500

1000

500

0

10

B 0 L L0 L L LD LA i

il " 1
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

[ADC for FGT RDO=1LARM=3,APV=7 } [ ADC for FGT RDO=1,ARM=3,APV=7 }
4000

3500

ADC-ped
ADC-ped

3000

o
=)

2500

2000

1500

1000

500 20

0

1000 2000 3000 4000 20
raw ADC APV channel

[ADC for FGT RDO=1,ARM=3,APV=8 } [ ADC for FGT RDO=1,ARM=3,APV=8 |
4000

3500

ADC-ped

. . . 3000

2500
2000
1500
1000

10°
500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

1000 2000 3000 4000 20 40 60 80 100 120

raw ADC APV channel

ADC for FGT RDO=1,ARM=3,APV=9 | [ ADC for FGT RDO=1,ARM=3,APV=9 "}
4000

3500

ADC-ped
ADC-ped

3000

2500

2000

1500

1000

500

0

10

© A A A A

0 1000 2000 3000 4000
raw ADC APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Apr 10 13:38:01 2012

[ADC MPV for RDO=1ARM=3,APV=5 _}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=7 }

MPV (ADC-ped)

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Apr 10 13:38:35 2012

[CADC RMS for RDO=1,ARM=3,APV=5__}

RMS (ADC-ped)

SFATTFFTAFFF

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=6 }

RMS (ADC-ped)

" " " " " " " " " " " " 1 "
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=7 }

RMS (ADC-ped)

60

50

IHIHH‘[I‘I‘I‘I

40

30

[EEEEEEEEEEXN]

20

10

APV channel

[CADC RMS for RDO=1,ARM=3,APV=8__}

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=9 "}

RMS (ADC-ped)

16
14 p—
12 g=

10 |

120
APV channel




run_13101038 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Apr 10 13:36:24 2012

ADC for FGT RDO=1ARM=3,APV=12 _§

[[ADC for FGT RDO=1,ARM=3,APV=12_}

5 = 4000 p—
3 ] =
3 3 =
g =
% é 3500 f=
3000 f=—
=
2500 f=— 1
=
2000 f=——
=
1500 f=——
1000 fE— 10"
=
500 f—
=
=
0f—=
= i i i i i i 102
3000 4000 0 20 40 60 80 100 121
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=13 | [ ADC for FGT RDO=1,ARM=3,APV=13
L = 4000 p— - - - - - -
4 g = 10
(8] Q -
8 8 3500 =
< < =
..
10 3000 =
2500 fm— - -
= 1
2000 f/— - -
=
=
10 1500 f=— - -
=
1000 p=—— - -
= 10"
500 =
= 5
0of—-- £t
E_. . . i i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=14 } I ADC for FGT RDO=1,ARM=3,APV=14
5 < 4000 p= - - - - - -
3 2 = 8 8 8 8 8 2 10
%) 1) = i .
Q Q 3500 F=
< < =
10 3000 =— Sree-
=
2500 = Srees
= 1
2000 fm— Spees
=
=
10 1500 f=— SELE
1000 f=— SELE
500 = 2
=
= RS
= i i i i i i
0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=15 | | ADC for FGT RDO=1,ARM=3,APV=15
5 = 4000 p—
3 ] = . . .
3 3 =
9 Q 3500 f—- - - Lo
< < =
3000 f=—---
10° =
2500 p=——- - -
2000 f=— - &
=
o 1500 =
1000 f=—- - -
— -1
500 f=— - - - 10
=
==
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=LARM=3.APV=16 || [ ADC for FGT RDO=1,ARM=3,APV=16
L = 4000
3 ]
[ &
o 4}
g g 3500 10
10 3000
2500
2000 1
10 1500
1000
500 10"
0
0 1000 2000 3000 4000
raw ADC APV channel



run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Apr 10 13:38:02 2012

[ADC MPV for RDO=1ARM=3,APV=12_}

MPV (ADC-ped)

L i i i
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=3,APV=13 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=1,ARM=3,APV=14 |

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
<G 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=16 }

MPV (ADC-ped)

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Apr 10 13:38:36 2012

[ADC RMS for RDO=1,ARM=3,APV=12__}

RMS (ADC-ped)

140

120

100

80

60

40

20

11'|'I'I'I'|'H

FECOOOI I NKE(|

IHI|1

|

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=13 "}

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=3,APV=14 "}

RMS (ADC-ped)

120 ¢

i
120
APV channel

RMS (ADC-ped)

APV channel

| ADC RMS for RDO=1,ARM=3,APV=16 }

RMS (ADC-ped)

180

160

=
140

h—
120

100

80 [

60

40

20

0

20 40 60 80 100 120
APV channel




run_13101038 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Apr 10 13:36:28 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=18 | [ ADC for FGT RDO=1,ARM=3,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=LARM=3,APV=19 } I ADC for FGT RDO=1,ARM=3,APV=19 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=1,ARM=3,APV=20 | [ ADC for FGT RDO=1,ARM=3,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1ARM=3.APV=21 _}| [ ADC for FGT RDO=1,ARM=3,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Apr 10 13:38:03 2012

[ADC MPV for RDO=1ARM=3,APV=17

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=1,ARM=3,APV=18 '}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=1,ARM=3,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=LARM=3APV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=3,APV=21 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=4,asmb=4AB
Tue Apr 10 13:38:37 2012

[ADC RMS for RDO=1,ARM=3,APV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=3,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=3,APV=19 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=3,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA

Tue Apr 10 13:36:29 2012

[ADC for FGT RDO=1,ARM=4,APV=0 }

2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=1 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=LARM=4APV=2 }

ADC-ped

o
15}

illi i
0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=1,ARM=4,APV=3 }

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=1,ARM=4,APV=4 l

ADC-ped

I~

2000 3000 40(
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

3
af- .

APV channel

[ ADC for FGT RDO=1,ARM=4,APV=1 }
- 4000 p—
g = o o o o o 5
9 3500 fm—{- == qre-e- EEEEE EET TR -
< = .
3000 P=— == t----- Focgqesofpsosss =
2500 fm—v{- == - e en EEEEE T SEP -
2000 fm— - - - -t----- EEEEE P R -
= 5
1500 = v|= s = np e s EEEE S EETY PR -
= 5
1000 = ef- - e e m e e s EEEEY PR PR - :
= : H b
500 fm— ERS PR PPRED
= .
0 e rm e T R
= . i . i . i i . . i i
0 20 40 60 80 100 120
APV channel
[ ADC for FGT RDO=1,ARM=4,APV=2 }
- 4000 py
] =
g =
Q 3500 fF— - {-{--¢- Syete-
< H
3000 EF— |- {-{--F- aqete-
=
2500 p— - {-{ -~ Spetes
=
2000 oj|==fe oq=fpee
=
1500 fF—-1-1--+- =q=pes
1000 fF—-1{-1--+- =q=pes
L
500 pF— |- {-1-- - cdopes
rm
o q--F- R
s i i i i
20 20 6 80 100 120
APV channel
[ADC for FGT RDO=1,ARM=4,APV=3 }
- 4000 p
5]
o
Q 3500
<

3000

2500 f=

2000

1500

1000

500

0

[ ADC for FGT RDO=1,ARM=4,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... .4 .. 4 B, 40 B, .40 §E.0

10°

10

10°

10°

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 13:38:04 2012

[ADC MPV for RDO=1ARM=4,APV=0_}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=2__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=4 "}

MPV (ADC-ped)

L—
1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 13:38:37 2012

[CADC RMS for RDO=1,ARM=4,APV=0_}

RMS (ADC-ped)

300

250

200

150

100

50

TTT |||T[HH[HHIHH|HH|II

1
120

APV channel

RMS (ADC-ped)

220
200 P=
180
160
140
120 [
100
80 [
60
40 E
20

0

[ ADC RMS for RDO=1,ARM=4,APV=2 "}

RMS (ADC-ped)

250 |-

Mo

120
APV channel

[CADC RMS for RDO=1,ARM=4,APV=3__}

RMS (ADC-ped)

40

20

240 =
220 b/
=
200 f=—
180 f=—
160 P/
140 f/——
120 =
=
100 fF=—
80 f=—
=
60 p=
=
HE—

0

0

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=4 "}

RMS (ADC-ped)

300 f/—
b—
250 p——
200 [=—

150

100

50

120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 13:36:34 2012

[ADC for FGT RDO=1,ARM=4,APV=5 } [ ADC for FGT RDO=1,ARM=4,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=6 } [ ADC for FGT RDO=1,ARM=4,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1LARM=4,APV=7 } [ ADC for FGT RDO=1,ARM=4,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=1,ARM=4,APV=8 } [ ADC for FGT RDO=1,ARM=4,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=1,ARM=4,APV=9 } [ ADC for FGT RDO=1,ARM=4,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5DA

5,asmb

ISC=

in=2,Di
05 2012

imeb
:38:

Tue Apr 10 13

run_13101038_FGT_MPV_1,T

TARM=4,APV=5_}

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=6 |}

ARM=4,APV:

=0

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7}

ARM=4,APV:

=1

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

TARM=4,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=4,APV=9 "}

=1

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101038 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
Tue Apr 10 13:38:38 2012

[ADC RMS for RDO=1,ARM=4,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=1,ARM=4,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB

Tue Apr 10 13:36:35 2012

ADC for FGT RDO=1,ARM=4,APV=12

3000 4000
raw ADC

[[_ADC for FGT RDO=1.ARM=4.APV=13 |

o

3

[

o

a

<

10°

10
0 1000 2000 3000 4000
raw ADC

I ADC for FGT RDD:I,ARM:A‘APV::LA l

5

3

[

o

a

<

10°

10
1000 2000 3000 4000
raw ADC

[ ADC for FGT RDO=1,ARM=4,APV=15 |

L. =

3

[

)

a

<

.
15}

0 1000

2000

3000 4000
raw ADC

ADC for

FGT RDO=1ARM:

=4, APV=16

ADC-ped

=
15}

3000
raw ADC

40(

[[ADC for FGT RDO=1,ARM=4,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 f=——
=
=

500 =
=
=

==

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=13 "}

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
o=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=14 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
M=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=1,ARM=4,APV=15_}
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
0=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=1,ARM=4,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

w4 .4 .. .Jd Ea.d WNa

10

107

10

10

10°




run_13101038 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 13:38:05 2012

[ADC MPV for RDO=1ARM=4,APV=12_}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=13 "}

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=14 "}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=1,ARM=4,APV=16 }

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 13:38:38 2012

[ADC RMS for RDO=1,ARM=4,APV=12__}

250

200

RMS (ADC-ped)

150

IED3E
LU

100

FLTFL-T-

50

SFETT

APV channel

[ ADC RMS for RDO=1,ARM=4,APV=13 "}

3 250 = =
S [
(6] —
[a] h—
< 200 f—
12} —
= b—
3 :
[
150 [

100 |-

50 [

1
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=14 "}

RMS (ADC-ped)

i i
100 120

APV channel
[ ADC RMS for RDO=1,ARM=4,APV=15 |}
g : : : : : :
=5 250 - - ¢ o m e e n i Pos00005059050000005009 Pooasess0s0s00saga0500q Poseooos0sa0s0s(|ilbasesapsoscace
Q . . . . .
a . o
<
3 200 P Y £ £ & e
x - : : 1 B 5 o
PN e EEEEE £ EEEEEEEEE I EEIEEEEREE] E EEEREEEEEEEERE S K B BN EE B o 3 REE B CEEES EE BE 4 EEEEE J 3 & EEREE] B EEEEEFTEREERRY EEE &ty REE £ B 0 3 § EEER] SorkE B B SRR & EEREEE
B e = o O B B B o o AR R N o R o o ERE CEEEEREEEREEY <RI B oEEE B EEE o 3 EE B S o & B Bt IR B 3 R SO REUE B bl S R B A 3 6 B R o ol B B CEEREE S U SRR & EEREE
g |F=ULE Ll oo dUHHL SR oo af | B ddf aaccadfeEasgpaclfhacaanaliansscssaadbml hancaassananasansadmbadhocanscanacadlaadbaadheaadlatassacansadtbodhocaases
o i
120
APV channel

| ADC RMS for RDO=1,ARM=4,APV=16 }

RMS (ADC-ped)

i . . . i
100 120
APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 13:36:39 2012

[ ADC for FGT RDO=1 ARM=2,APV=17 | [ ADC for FGT RDO=1,ARM=4,APV=17 |
- 4000
3
2
Q 3500 - B
8 10
3000 - B
2500 - B
2000 - B
1
1500 od B
1000 O
500 sdSocllolbocscoconss
o 10t
0 B B
i
1000 2000 3000 4000 20
LUl APV channel

ADC for FGT RDO=1ARM=4,APV=18 _§

[ ADC for FGT RDO=1,ARM=4,APV=18 "}

ADC-ped

=
Q

[ ADC for FoT RDO=1.ARM=2.APV=19 ]
—

0 1000 2000 3000 4000

4000

3500

ADC-ped

3000
2500

2000

1000

500 :
10
0

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
o
I
=
0

" " 1
20 40 60 80 100 120
raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=19 }

C-ped

=AD!
53

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

Rt
1000 2000

[ ADC for FGT RDO=1,ARM=4,APV=20

3000 4000 20 40 60 80 100 120

10

raw ADC APV channel

[[ADC for FGT

Py
]

O=1,ARM=4,APV=20 }

= ADC-ped

=)

ADC for FGT RDO=1,ARM=4,APV=21 _§

3

0 1000 2000 3000 4000

4000

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500
2000
1500
1000

500 10°

0

° nrqlrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 100 120
raw ADC APV channel

[ ADC for FGT RDO=1,ARM=4,APV=21 }

ADOpeg

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

]m |r|1|[|1|r|1|r|]rr|1|rm[|1|r|1rr|

0

aildEIRTERIAGNATGRAAGNAGRARRIATENATENATENAG]
= =
1S}

10

0 1000 2000 3000 4000

raw ADC APV channel




run_13101038 FGT_ MPV_1,Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 13:38:06 2012

[ADC MPV for RDO=1ARM=4,APV=17

MPV (ADC-ped)

. . ;
Q 20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=1,ARM=4,APV=18 "}

MPV (ADC-ped)

500 . . i . . . i . . . i . . . i . . . i . . . i
£22h o 20, 40 60, 80 100 120
APV channel

[ADC MPV for RDO=1,ARM=4,APV=19 _}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

i i i i
€Y 20 0 50 80 100 120
APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=1,ARM=4,APV=21 "}

[
1500 s s s -

MPV (ADC-ped)

T P o A | EXTETPEP PP Y [ LERPEE P T PR e

N e - -

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Apr 10 13:38:39 2012

[ADC RMS for RDO=1,ARM=4,APV=17 _}

300 |

250

RMS (ADC-ped)

200
150
100

50 fE—-- B : - podlboosoooonctdocosced S e

250 pE==TTTTTTTTTTTTTTTT b T R R L R R

RMS (ADC-ped)

[ ADC RMS for RDO=1,ARM=4,APV=19 |

RMS (ADC-ped)

250

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=1,ARM=4,APV=21 "}

= 18 E

2 T

[ 0

Q

@ 16

<

(2]

g 14

&= T
12 [
10

i
120
APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 13:36:43 2012

[ADC for FGT RDO=2,ARM=0,APV=0 }

= ADC-ped

=)

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=1 }

ADC-ped

=
U

H
000 3000 4000
raw ADC

o [

i
0 1000

[ADC for FGT RDO=2,ARM=0,APV=2 }

ADC-ped

o
15}

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=3 }

ADC-ped

o
=)

Lt
0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0,APV=4 l

ADC-ped

=
1)

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=0,APV=0_}

= 4000 p—
] =
& =

Q 3500 f—
< =

3000 P=—
=

2500 =
=

2000 =
=

1500 =

1000 =
=
=

500 =
=
=

0=

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=1 "}
= 4000 p—
] = . . . . .
5 =
8 3500 = ---{{--f}-F|-1--
< =
3000 P=—---{{--f}-}|-1--
2500 - - - {{-- -} |- -1--
=
2000 = ---{1--}f-F|--1--
=
1500 === -4 -t} - 1= -
=
1000 f=—---{{--tp-F |- 1--
=
500 ==~ {{--tf-I -1
=
= e s e
= . . . . i . . . i . . . i . . . i . . . i
0 2 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=2 "}

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
d ==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=3 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=
< =
3000 =
2500 =
2000 f=
=
1500 =
1000 p=
=
=
500 =
=
0=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=4 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. 4 .4 Es.d e W E

10°

10

10°

10

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 13:38:07 2012

[ADC MPV for RDO=2,ARM=0,APV=0__}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=2}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 13:38:40 2012

[CADC RMS for RDO=2,ARM=0,APV=0_ J

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=1 "}

RMS (ADC-ped)

200 f=
180 f=
160
140
120 P=
100 =
80
60 |
40
20

0

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=2 "}

RMS (ADC-ped)

180 [¢

160

140

120 |

100

80

60 |

40

20 =

APV channel

RMS (ADC-ped)

i
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=4 "}

RMS (ADC-ped)

220
200
180
160
140
120
100 [

80

60 =
40
20

0

APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Apr 10 13:36:47 2012

[ADC for FGT RDO=2,ARM=0,APV=5 }

2000

[ADC for FGT RDO=2,ARM=0,APV=6 }

3000

4000
raw ADC

ADC-ped

=
Q

0 1000 2000

[ADC for FGT RDO=2,ARM=0,APV=7 }

3000 4000

raw ADC

ADC-ped

.
15}

1000 2000

[ADC for FGT RDO=2,ARM=0,APV=8 }

3000 4000

raw ADC

1000 2000

ADC for FGT RDO=2,ARM=0,APV=9 l

3000

4000
raw ADC

ADC-ped

=

0 1000

2000

3000 4000

raw ADC

[[ADC for FGT RDO=2,ARM=0,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=6 }

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
==
E_. . . i . . . i . . . i . . i . . . i . . . i .
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=7 }

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
< =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
U=
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=0,APV=8
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b=
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=0,APV=9 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

. A . .d . d R

10

10°

10

10

10




run_13101038 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 13:38:08 2012

[ADC MPV for RDO=2,ARM=0,APV=5__}

MPV (ADC-ped)

L i i i
-500 Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=0,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=7 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
Tue Apr 10 13:38:42 2012

[CADC RMS for RDO=2,ARM=0,APV=5__}

RMS (ADC-ped)

240

220 =

200

180 =
160 =

140
120
100
80
60
40
20

0

[ ADC RMS for RDO=2,ARM=0,APV=6 }

RMS (ADC-ped)

240
220
200
180
160

140 p——

120
100
80
60
40
20
0

[ ADC RMS for RDO=2,ARM=0,APV=7 }

RMS (ADC-ped)

180 p=

160 f—

140

120 [=

100

80 |
SON=

40 |

20

0

RMS (ADC-ped)

300

250 |r

200 f

150

100 [

50

i
120
APV channel

RMS (ADC-ped)

i . . . i
100 120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 13:36:52 2012

ADC for FGT RDO=2,ARM=0,APV=12 _§

[[ADC for FGT RDO=2,ARM=0,APV=12_}

4000
3 B 10
5 S
o .
Q Q 3500
< <
iy 3000 .-
2500 =0 a
2000 =0
10 1500 --
1 -- P
000 10"
500 --
0 =
1000 2000 3000 4000
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=13 | [ ADC for FGT RDO=2,ARM=0,APV=13
L = 4000 p—
g g = 10
o o =
8 8 3500 =
< < =
10 3000 f=——
2500 fm—
2000 fm/—— &
=
10 1500 f=—
=
1000 p=——
= -1
= 10
500 p=—
=
0 ==
E_. . . i i i . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ abc for FGT RDO=2ARM=0,APV=14 } I ADC for FGT RDO=2,ARM=0,APV=14
- = 4000 p=
3 g = . . . . . .
3 2 = 8 8 8 8 8 2 0
o %) =
Q Q 3500 F=
< < =
3000 f=—
10 =
=
2500 =
=
2000 f=— &
=
=
2 1500 =
1000 fP=——
=
500 fe— 10"
=
d ==
= i i i i i i
1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=0,APV=15 | [ ADC for FGT RDO=2,ARM=0,APV=15
5 = 4000 p—
4 g = . H 8 0
9 Q 3500 f=—
< < =
3000 f=—
10 =1
2500 =
= 1
2000 p=—
=
=
. 1500 =
1000 f=——
= 1
500 fm— 20
=
0=
=
=
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=0.APV=16 | [ ADC for FGT RDO=2,ARM=0,APV=16
L = 4000 p=
3 2 = . . . . . .
[ & =
8 9] 3500 fe— - 4{- 1 -
a ) =
2 =] = 10
3000 f=—-11-1-
10° =
2500 f=— - {{-1-
=
2000 fm— - 41- 1 -
= 1
1500 f/—-{{-1-
=
1000 f=—-44-1-
=
500 fm— - {1-1- 2l
= 10
o E={1
- . . i i i . . i . . . i . . . i .
1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel



run_13101038 FGT _MPV_1,Timebin=2,Disc=1,asmb=1CD

Tue Apr 10 13:38:10 2012

[ADC MPV for RDO=2,ARM=0,APV=12_}

MPV (ADC-ped)

20 40 60 80

i i
100 120

-500

[ ADC MPV for RDO=2,ARM=0,APV=13 "}

APV channel

MPV (ADC-ped)

DG 20 40 60 )

[ ADC MPV for RDO=2,ARM=0,APV=14 "}

100 120
APV channel

MPV (ADC-ped)

20 40 60 80

i i
100 120

-500

APV channel

MPV (ADC-ped)

-500 20, 40 60, 80

[ ADC MPV for RDO=2,ARM=0,APV=16 }

i
100 120
APV channel

MPV (ADC-ped)

-500 " " " " " " " "
20 40 ) a0

100 120
APV channel




run_13101038 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 13:38:43 2012

[ADC RMS for RDO=2,ARM=0,APV=12__}

RMS (ADC-ped)

400 |
350
300 E
250
200 p——
150

100

0 BT ; i R R albdhendibllsdoadlbsosa dfpodsslooooss

i
120
APV channel

0%

[ ADC RMS for RDO=2,ARM=0,APV=13 "}

RMS (ADC-ped)

120 |

100 -

80 2
(O == b el BRI o R | EEEREREEEEEEEEEEPEEEREEE £ CEEREERERE] EE TERERTE . PR EEEEREEEEEEEE S ey 5 ¥ E B S

20 |-

3 : ool e oo e i

1
120
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=14 "}

RMS (ADC-ped)

100 *

80

60 [+

40 -

-
20 |+

RMS (ADC-ped)

100

i
120
APV channel

| ADC RMS for RDO=2,ARM=0,APV=16 }

RMS (ADC-ped)

|1

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 13:36:56 2012

ADC for FGT RDO=2,ARM=0,APV=17 _§

ADC-ped

o
=)

3000 4000
raw ADC

1000 2000

ADC for FGT RDO=2,ARM=0APV=18 §

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=0.APV=19
—

ADC-ped

.
15}

1000 2000 3000 40(

raw ADC

[ ADC for FGT RDO=2,ARM=0,APV=20 |
o
3
[
9]
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=2,ARM=0,APV=21__§
o
3
[
%)
S
10/
10

3000
raw ADC

4000

[[ADC for FGT RDO=2,ARM=0,APV=17

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

]lr|1|r|1|[|1|r|1|r|]|r|1|r|1|[|1n-|1rr|

Niilil

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=18 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B 0 L L L N LD LA i il

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=19 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

80
APV channel

[[ADC for FGT

Py
]

0=2,ARM=0,APV=20_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

1 H|'I1II'|HI'I

=
=
=
e
=
=
=
—
=
=

0

40 120

APV channel

[ ADC for FGT RDO=2,ARM=0,APV=21 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

. . d L e

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

10

10

10

10°

10°




run_13101038 FGT _MPV_1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 13:38:11 2012

[ADC MPV for RDO=2,ARM=0,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=18 "}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=0,APV=19 |

MPV (ADC-ped)

i i i i
20 40 60 80 100 120
APV channel

-500

MPV (ADC-ped)

i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=0,APV=21 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
Q 20 a0 0 a0 100 120
APV channel




run_13101038 FGT _RMS 1,Timebin=2,Disc=1,asmb=1CD
Tue Apr 10 13:38:44 2012

[ADC RMS for RDO=2,ARM=0,APV=17 _}

RMS (ADC-ped)

200
180 P=
160 [
140 £
120
100 E
80
60
40
20 f=

0
APV channel

[ ADC RMS for RDO=2,ARM=0,APV=18 "}

RMS (ADC-ped)

140

120

HITIT

100

i! T

80

L

60

40

20

B - IECO0IEECOIZECOJIXED]

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=19 |

RMS (ADC-ped)

120 |r
[

100

80 [+

60 &

40 |

20

i i i
80 100 120
APV channel

20 40 60

RMS (ADC-ped)

100

80

60

40

20

ST e T

APV channel

[ ADC RMS for RDO=2,ARM=0,APV=21 "}

RMS (ADC-ped)

140 [
i
120 |
100
80 P
60 [&
£0 b—

20 |r

APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 13:37:00 2012

[ADC for FGT RDO=2,ARM=1,APV=0 } [ ADC for FGT RDO=2,ARM=1,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1,APV=1 } [ ADC for FGT RDO=2,ARM=1,APV=1 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=2 } [ ADC for FGT RDO=2,ARM=1,APV=2 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=1APV=3 } [ ADC for FGT RDO=2,ARM=1,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1,APV=4 } [ ADC for FGT RDO=2,ARM=1,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=2BC

2,asmb

iIsc=

2,D

IN=

b

Ime

Tue Apr 10 13

run_13101038_FGT_MPV_1,T

12 2012

38:

2ARM=LAPV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=1,APV=1 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

ARM=1APV=2 "}

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2ARM=LAPV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=1,APV=4 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 13:38:45 2012

[ADC RMS for RDO=2,ARM=1,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=1 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=2,asmb=2BC

Tue Apr 10 13:37:01 2012

[ADC for FGT RDO=2,ARM=1,APV=5 }

[ 1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=6 }

ADC-ped

I~
15}

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=1APV=7 }

ADC-ped

o
15}

1000 2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=1,APV=8 }

ADC-ped

o
=3

1000 2000 3000 4000

raw ADC

>
[sd
9]

for FGT RDO=2,ARM=1,APV=9 l

C-ped

= ADf
1)

3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=1,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=7 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

11r|]|r|1|r|1|[|1|r|1|r|]|r|1|rn I|'I1II'|1 T

APV channel

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=8_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=9 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. A .. . el e

10°

10

10"

10°

10"

10

10




run_13101038 FGT_MPV_1,Timebin=2,Disc=2,asmb=2BC
Tue Apr 10 13:38:12 2012

[ADC MPV for RDO=2,ARM=1,APV=5__}

MPV (ADC-ped)

1500 [+

1000 [5

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=6 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2BC

Tue Apr 10 13:38:45 2012

[CADC RMS for RDO=2,ARM=1,APV=5__J

RMS (ADC-ped)

60

50

40

30

20

10

B - I IEECC00OIIEECOO0OIIEEED

[ ADC RMS for RDO=2,ARM=1,APV=6 }

RMS (ADC-ped)

220
200
180
160

140

APV channel

120 p=

100
80
60
40
20

0

[ ADC RMS for RDO=2,ARM=1,APV=7 }

RMS (ADC-ped)

180 [=

160 =

140 |

120 f=
=

100

80

60

40

20

0

i i
100 120

[CADC RMS for RDO=2,ARM=1,APV=8__}

RMS (ADC-ped)

20

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=9 "}

RMS (ADC-ped)

120
APV channel

120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD

Tue Apr 10 13:37:06 2012

ADC for FGT RDO=2,ARM=1,APV=12

C-ped

= AD
5}

[ 1000

3000
raw ADC

ADC for FGT RDO=2,ARM=1,APV=13

o
3
[
o
S
10°
10?
10
it
0 1000 2000 3000 4000
raw ADC
[ Apcfor Fet RDO=2ARM=1APV-14 |
5
3
[
o
2o
10
1000 2000 3000 4000
raw ADC
[ADC for FGT RDO=2,ARM=1,APV=15 |
5
3
[
)
a
<
10°
10
0 1000 2000 3000 4000
raw ADC
ADC for FGT RDO=2,ARM=1APV=16 ||
o
3
[
o
a
<
10°
10

2000

3000

40
raw ADC

4000

[[ADC for FGT RDO=2,ARM=L,APV=12_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© AR R R A A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=13 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

< AR A A

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=14 "}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

aEldENATE NI AGNATGRAARNAGRAARIATENATRNATENAG]

80
APV channel

[[ADC for FGT
4000

Py
]

0=2,ARM=LAPV=15_}

3500

ADC-ped

3000

1 H|'I1II'|HI'I

2500

2000

1500

1000

500

0

° nrl]lrn|r|1|[|1|r|1|r|]n|1

40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=1,APV=16 }
4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

.. A .4 i i

10

10

10°

10°

10




run_13101038 FGT _MPV_1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 13:38:13 2012

[ADC MPV for RDO=2,ARM=LAPV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

i i
20 40 60 80 100 120
APV channel

-500

[ ADC MPV for RDO=2,ARM=1,APV=13 "}

L : : : : : :
1500 [l e suine s R ERERRELEELEE S ARRREREELEELEED R R RRRRREEEEE R RRARRRELEELEE R R RRRRREEEEE reenes

MPV (ADC-ped)

1000 [+ 2 g Bococacosasasasanacacadhoaascosasasasacacacoad TR

500 |- 555005050060500000GP055300000000050903C000P00005090360050000005034 foooocooooooocoooo0cooq fFoococooooooocoooo0oo0oq foooocooooooocoooooooog fococooo

0
- i
500 120,
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=14 "}

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=15_}

5 T
g : :
S — :
g 1500 [+ 5
< :
> .
g :
g :
1000 f+ h
500 |-
oOfR 5

i i i i i i i

=y Q 20, 40 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=1,APV=16 }

MPV (ADC-ped)

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 13:38:46 2012

[ADC RMS for RDO=2,ARM=LAPV=12__}

1

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=13 "}

5 E
& T
(6] "
a T
< :
%] 0.8
2 E
3 :
06 [
0.4 |-
[
02 [
—
o . . i . . . i . . . i . . . i . . . i . . . i
0 20 20 60 80 100 120

APV channel

120

100

RMS (ADC-ped)

80
60 [

40 B

20

i i
20 40 60 80 100 120
APV channel

[ADC RMS for RDO=2,ARM=LAPV=15__}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=1,APV=16 }

240
220
200 f=

180 f=—

RMS (ADC-ped)

160
140 |5
120
100

80

60
40

20 | S 3
N = H R e S

. . . i . . . i
20 40 60 80 100 120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 13:37:10 2012

[ ADC for FGT RDO=2 ARM=1,APV=17 | [ ADC for FGT RDO=2,ARM=1,APV=17 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=18 | [ ADC for FGT RDO=2,ARM=1,APV=18 }
L - 4000 p—
g - 3 = . . . . . .
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ Apcfor Fet RDO=2ARM=1APV=19 | [ ADC for FGT RDO=2,ARM=1,APV=19 }
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=1,APV=20 | [ ADC for FGT RDO=2,ARM=1,APV=20 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=1APV=21 || [ ADC for FGT RDO=2,ARM=1,APV=21 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i
0 1000 2000 3000 4000

raw ADC APV channel




run_13101038 FGT _MPV_1,Timebin=2,Disc=2,asmb=2CD

Tue Apr 10 13:38:14 2012

[ADC MPV for RDO=2,ARM=LAPV=17 J

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=1,APV=18 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=1,APV=19 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=LAPV=20 }
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=1,APV=21 "}

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=2,asmb=2CD
Tue Apr 10 13:38:47 2012

[ADC RMS for RDO=2,ARM=LAPV=17 _}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=1,APV=18 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=1,APV=19 |

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=1,APV=21 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 13:37:12 2012

[ADC for FGT RDO=2,ARM=2,APV=0 }

C-ped

=AD
15}

1000

2000

[ADC for FGT RDO=2,ARM=2,APV=1 }

3000

4000
raw ADC

C-ped

1000 2000

[ADC for FGT RDO=2,ARM=2,APV=2 }

= AD
15}

3000 40(

raw ADC

1000 2000

[ADC for FGT RDO=2,ARM=2,APV=3 }

3000 40(

raw ADC

1000 2000

ADC for FGT RDO=2,ARM=2,APV=4 l

3000

4000
raw ADC

1000

2000

3000 40(

raw ADC

[ ADC for FGT RDO=2,ARM=2,APV=0

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

B L L L L A LA L L] i

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=1

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=2 "}
= 4000 p—=
] = . . . . . .
2 = 2 2 2 2 2 2
Q 3500 f=— - -1
% =
3000 f=—---{-
=
2500 f=—- - - {-
=
2000 fm—---1-
=
1500 f=—---1{-
1000 f=—---1-
=
500 f=— - - - {-
=
oE—-1-
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=2,APV=3 }
= 4000 p—
5] =
& =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 fm—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b==
=
=
0

40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=2,APV=4

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

... .. i s d Wl

10°

10°

10

10

10




run_13101038 FGT_MPV_1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 13:38:14 2012

[ADC MPV for RDO=2,ARM=2,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=2,APV=1 }

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=2 }

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

; ; :
€Y 20 0 50 80 100 120

APV channel

1500 [+

MPV (ADC-ped)

1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=2,ARM=2,APV=4 "}

MPV (ADC-ped)

APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 13:38:47 2012

[ADC RMS for RDO=2,ARM=2,APV=0__}

RMS (ADC-ped)

220
200 [
180 =
160
140 =
120
100 fr
80

60
w0 [

20

i
0 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=1 "}

RMS (ADC-ped)

240
220

200 B=
180 =
1« —
160 =
140 =
120
100
80
60
40
20
0

[ ADC RMS for RDO=2,ARM=2,APV=2 "}

RMS (ADC-ped)

220

|

200

180

160
140

120

100

80

SENICENICENIOCNIZENIOCAIZENIA

| ” ||-|-|-.|.|.|.|||| LLLI III|

60
40 E
20

0

=
0

APV channel

[CADC RMS for RDO=2,ARM=2,APV=3__}

RMS (ADC-ped)

220 (=
200 =
180 =
160 |5
140
120
100
80
60
20 f=
20 =

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=4 "}

RMS (ADC-ped)

250

i . . . i
100 120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 13:37:16 2012

[ADC for FGT RDO=2,ARM=2,APV=5 } [ ADC for FGT RDO=2,ARM=2,APV=5 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=6 } [ ADC for FGT RDO=2,ARM=2,APV=6 }
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=7 } [ ADC for FGT RDO=2,ARM=2,APV=7 }
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=2,APV=8 } [ ADC for FGT RDO=2,ARM=2,APV=8 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=2,APV=9 } [ ADC for FGT RDO=2,ARM=2,APV=9 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=3BC

3,asmb

iIsc=

2,D

IN=

b

Ime

Tue Apr 10 13

run_13101038_FGT_MPV_1,T

16 2012

38:

2,ARM=2,APV=5_ ]

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

ARM=2,APV=6 }

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=7

ARM=2,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2,ARM=2,APV=8_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

ARM=2,APV=9 "}

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3BC
Tue Apr 10 13:38:48 2012

[CADC RMS for RDO=2,ARM=2,APV=5__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=2,APV=6 }

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=7 }

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=9 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD

Tue Apr 10 13:37:18 2012

ADC for

FGT RDO=2,ARM=2,APV=12

2

ADC‘pFOd

3000 4000
raw ADC

[ AoC for

FGT RDO=2, ARM=2,APV=13

ADC-ped

1
1000 2000

I
3000 4000
raw ADC

[ Apcfor

FGT RDO=2,ARM=2,APV=14
—

1
1000 2000

I
3000 4000
raw ADC

ADC for

FGT RDO=2,ARM=2,APV=15

3000 4000
raw ADC

[ Apcfor

FGT RDO=2,ARM=2,APV=16

ADC-ged

0 1000

2000

3000 4000
raw ADC

[[ADC for FGT RDO=2,ARM=2,APV=12_}

= 4000 p—
] =
& =

Q 3500 f=——
< =

3000 f=—
=

2500 f=—
=

2000 f=——
=

1500 f=——

1000 p=——
=
=

500 p=——
=
=

of—

= i i i i i i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=13 "}

= 4000 p—
] = . . . . . .
5 =
8 3500 f=——
< =
3000 f=—
2500 fm—
2000 fm/——
=
1500 f=—
=
1000 f=——
=
500 f—
=
0=
E_. . . i . . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=2,APV=14 "}
4000

3500

ADC-ped

3000

2500

2000

1500

'|r|1|r|]|r|1|r|1 I|'I1II'|1 T

1000

500

0

1
120
APV channel

[[ADC for FGT
4000 .

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° nrl]lrn|‘r|1|[|1|r|1|r|]n|1

20 40 60 80 120

APV channel

Py
O
O
N
p=
Py
<
N

[ ADC for FGT
4000

p=
T
<]
11
=)
o)
b

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|ITI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 13:38:16 2012

! THHMM HH HH H HHHMH
R NN UUHUW [PJU [ uuuugmr

6

nnnnnnnnnn

1ZZZEE_ """""" I H """ NI H """"" ﬂﬂ """ | ﬂ'H-é-H ---------- HH ----- ----- L
el ol [l U

nnnnnnnnnn

1500

. ﬂ;j;jﬂ;ﬂjjﬂ i ;ﬂ;;;;;ﬂ;f;;;;;;jn;;; ;H;;;;;ﬂ;;;ﬂ;H;;ﬂH;;;;:H;;;;;H;;H;;H;;;;;ﬂ;;;;;;;
limicls eesind g e CiE SR

nnnnnnnnnn




3CD

3,asmb

ISC=

=2,Di

In=

48 2012

b

ime
:38

Tue Apr 10 13

2}

run_13101038_FGT_RMS_1,T

2,ARM=

[CADC RMS for RDO

2 2 2 2 2
5 1: N 5
S S . S S
> > : > >
o o il o
S . E C S
8 = i3 8
g 3 P8 3
S S
2 ferdnd P o oo ; .
- A I Do R - R —
o o o <t o 0 o o o o n o o o o o o
T : : i 5 8 3 5 8 3 ¥ A ol N
> 0 > > 0 0 > 0
e : : o N N a oo ell:
< . . < Lo Lo < N <l |:
N o o~ M M N N
Il . . Il . . . . . . Il . . . . Il .
= . . = o P . = . . . . = . . . . . . . . .
4 DR 4 R v 4 v : l|: r
< 1 ] < r o < | <t 7 1
i i 3 bl i Jualuald o LA
o o TS O LELELLEL MDA LR M WA B B oy LLLLTHA BRI IH O | WAL LML
° o o o 9 9 o Q ©c 9 9 9 © 9 9 9 o o Q © o o 9 o Bl c ¢ 2 2 2 2 © o o o
= gE8°% ol 888 g8 ¢g¢® = § 2§ °5 e I =
.2 2 L .2
@] 0 [%) @]
= = = =
4 x 4 4
(pad-0av) SwWy m (ped-0av) sy m (ped-0av) Sy m (pad-0av) SWy m (ped-0av) sy
<C << < <C

APV channel



run_13101038 FGT_ADC 1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 13:37:22 2012

ADC for FGT RDO=2,ARM=2,APV=17__§ [ ADC for FGT RDO=2,ARM=2,APV=17 |
4000

2

3500

ADC‘pFOd
ADC-ped

3000
2500
2000
1500 10"
1000

500

0 10°

[ 1000 2000 3000 4000
raw ADC APV channel

ADC for FGT RDO=2,ARM=2,APV=18 _§ [ ADC for FGT

4000

C-ped

3500

= AD
S
ADC-ped

3000
2500
2000 f—
1500
1000
10
500

0

1
120
APV channel

I
3000 4000
raw ADC

1 1
1000 2000

[ Apcfor Fet RDO=2ARM=2APV-19 | [ ADC for FGT

4000

2

3500

ADCAp%d
ADC-ped

3000

2500
10 2000
1500 10°

1000

500

o 10°

1
1000 2000 3000 4000
raw ADC APV channel

[ ADC for FGT RDO=2,ARM=2,APV=20

[[ADC for FGT
4000

Py
]

0=2,ARM=2,APV=20

2

3500

ADCAp&g
ADC-ped

3000

'1TP1IW1TH

2500

2000

|1|rq||n

1500

10

il
I

1000

500

0

10"

° 1|r|]|r|1|r|1|[

0 1000 2000 3000 4000 20 40 60 80 100 120
raw ADC APV channel

Py
O
O
N
p=
Py
<
N

ADC for FGT RDO=2,ARM=2,APV=21 _}| [ ADC for FGT

p=
T
<]
D
N
[
b

4000

3500

ADCrped
ADC-ped

3000

2500

2000

1500

1000 107

500

R T A P

0

10

R i RIE RN RN IGEN AR RGN RN AT RN RNATENATRNAT]

N
N =5
IS
S
@
3
@
S
o
15}
53
e
N
5}

1000 2000 3000 4000
raw ADC APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 13:38:17 2012

R ﬂ-ﬂ ------------------- H -------------------- I
gULrUI : LJLI :HU TR R

nnnnnnnnnn




run_13101038 FGT_RMS 1,Timebin=2,Disc=3,asmb=3CD
Tue Apr 10 13:38:49 2012

[ADC RMS for RDO=2,ARM=2,APV=17 _}

RMS (ADC-ped)

500 [r
400
300 [
200 :

100 -

APV channel

[ ADC RMS for RDO=2,ARM=2,APV=18 '}

RMS (ADC-ped)

[ ADC RMS for RDO=2,ARM=2,APV=19 |

RMS (ADC-ped)

500

RMS (ADC-ped)

i i
20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=2,APV=21 "}

RMS (ADC-ped)

500

L—

APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 10 13:37:26 2012

[ADC for FGT RDO=2,ARM=3,APV=0 }

3000 4000
raw ADC

2000

[ADC for FGT RDO=2,ARM=3,APV=1 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=2 }

1000 2000 3000 40(

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=3 }

1000

2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=4 l

ADC-ped

.
5}

0 1000

2000 3000 4000

raw ADC

[ADC for FGT RDO=2,ARM=3,APV=0_}

= 4000 p—
] = .
e = o
Q 3500 fm— - - - s p e e - B e
< =
3000 f=—------f----- 1 2 drdpqe=cz=-
= ]
2500 p=— - mpe o] Pl i el
= 8
2000 - - - opn- - SEELETERE L EELELE
= 5
1500 o s v s fea e B o B
1000 P=— - - -t e e e B B P
= 8
5D |==5c0500)ooo0ad scoco|bdbdbdsccsss
= 2
= v
o= e e ——
= i
0 20
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=1 }
= 4000 p—
] = 0
5 =
8 3500 = cofpoedrocqesss =0
< = H
5000] =2 ELELELECEELELE SEELEEEE SEEL EELE =0
2500 e v s s m e e --
=
2000 fm—r s s e e m e e CEEE P --
= o
1500 = --
=
1000 = --
=
500 = sogposqeses =0
= 8
0 e s e e e -
= . . i . . i . . . i . . . i . . . i . . i
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=2 }

- 4000 p—=
] = . . . . .
g = 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
0=
= i i i i i
2 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=3,APV=3 }
- 4000 p—
5] = . . .
oo =
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
b ==
=
=
0 20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=4 "}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

... A .4 .. m..d E..od

10°

10°

10

10°

10




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 13:38:18 2012

[ADC MPV for RDO=2,ARM=3,APV=0_}

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=1 }

MPV (ADC-ped)

—
1500 [
1000 [+

500 |+

-500

. . . i . . . i . . . i . . . i . . . i . . . i
Q 20, 40 60, 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=2_}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

i
20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=4 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 13:38:51 2012

[ADC RMS for RDO=2,ARM=3,APV=0_}

RMS (ADC-ped)

=
220
200

180
160
140
120
100
80
60
40
20

=
00

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=1 "}

RMS (ADC-ped)

180 f—=

160

140

120

100

80 k&

60

40 E

20

0

1
120

=
=
0

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=2 "}

RMS (ADC-ped)

i
120
APV channel

RMS (ADC-ped)

220 f=

200
180
160
140
120
100
80
60
40

20 =

0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=4 "}

RMS (ADC-ped)

200

180

160

140 |

120

100

80 E

60 =

20
0

40
=

120
APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=4,asmb=4BC

Tue Apr 10 13:37:31 2012

[ADC for FGT RDO=2,ARM=3,APV=5 }

ADC-ped

o
=)

1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=6 }

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=7 }

[ADC for FGT RDO=2,ARM=3,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=6 }
4000

3500

ADC-ped

3000

2500

2000

rm
ke
=
=
=
=
rm:
1500 [
=
rm:
=
=
rm
=
=
0

1000 e
500 -
o) =2 -
E L . . i . . . i . . . i . . . i . . . i . . . i
20 40 60 80 100 120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=7 }

ADC-ped

o
=3

0 1000 2000 3000 4000
raw ADC

[ADC for FGT RDO=2,ARM=3,APV=8 }

ADC-ped

.
15}

0 1000 2000 3000 4000
raw ADC

ADC for FGT RDO=2,ARM=3,APV=9 l

ADC-ped

=
15}

3000 40(
raw ADC

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=— - - e e
% =
3000 fm— - - --
=
2500 f=— - - - - - - -
=
2000 = =0
=
1500 f=—-------
1000 f=—-------
=
500 f=— e - - - e e
=
=
= i i i i i i
20 20 60 80 100 120
APV channel
[ ADC for FGT RDO=2,ARM=3,APV=8
- 4000 p—
5] = . . .
g = 2 2
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0

[ ADC for FGT RDO=2,ARM=3,APV=9

4000

40

60 80 100 120
APV channel

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

. A .4 El.d E..A LA

10°

10

107

10°

10




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 13:38:19 2012

[ADC MPV for RDO=2,ARM=3,APV=5__}

MPV (ADC-ped)

-500

i i
20 20 60 80 100 120

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=6 }

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=7 }

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

N N i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=9 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=4,asmb=4BC
Tue Apr 10 13:38:52 2012

[CADC RMS for RDO=2,ARM=3,APV=5__}

90

80

70

RMS (ADC-ped)

60

50

40
30
20

10

. . . . ;
0 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=6 }

RMS (ADC-ped)

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=7 }

160 pP—

140

RMS (ADC-ped)

120
100 =
80
60
40

20

0

APV channel

[CADC RMS for RDO=2,ARM=3,APV=8__}
140

120 |+

RMS (ADC-ped)

100 [+
80 |
60

=
40

20 [r

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=9 "}

RMS (ADC-ped)

i
120
APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 13:37:35 2012

[ ADC for FGT RDO=2, ARM=3,APV=12 | [ ADC for FGT RDO=2,ARM=3,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=3,APV=13 | [ ADC for FGT RDO=2,ARM=3,APV=13 "}
L - 4000 p—
g - ] = . H ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=3 APV=14 } I ADC for FGT RDO=2,ARM=3,APV=14 l
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q —
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=——
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=3,APV=15 | [ ADC for FGT RDO=2,ARM=3,APV=15 |
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=3.APV=16 | [ ADC for FGT RDO=2,ARM=3,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD

Tue Apr 10 13:38:20 2012

[ADC MPV for RDO=2,ARM=3,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=3,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=3,APV=14 |

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ ADC MPV for RDO=2,ARM=3 APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT _RMS 1, Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 13:38:53 2012

[ADC RMS for RDO=2,ARM=3,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=3,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC 1,Timebin=2,Disc=4,asmb=4CD

Tue Apr 10 13:37:36 2012

ADC for FGT RDO=2,ARM=3,APV=17 _§

3000 4000
raw ADC

[ 1000 2000

ADC for FGT RDO=2,ARM=3,APV=18 _§

ADC-ped

.
=)

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3.APV=19 |
—

1000 2000

raw ADC

[ ADC for FGT RDO=2,ARM=3,APV=20

ADC-ped

=
15}

0 1000 2000 3000 4000

raw ADC

ADC for FGT RDO=2,ARM=3,APV=21 _§

ADC-ped

=
1)

3000 4000
raw ADC

[[ADC for FGT RDO

=2 ARM=3,APV=17_}

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

© BT e R e A A

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=18 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

1
120
APV channel

[ ADC for FGT RDO=2,ARM=3,APV=19 }

- 4000 p—=
] =
o =
Q 3500 f=—
< =
3000 f=—
=
2500 f=— -|
=
2000 =
=
1500 = -|
1000 = -|
=
500 f=— -
=
U=
= i i i i i i
20 20 60 80 100 120
APV channel
[[ADC for FGT RDO=2,ARM=3,APV=20 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
=
=
=
0

20 40 60 80 120

APV channel

[ ADC for FGT RDO=2,ARM=3,APV=21 }

4000

3500

ADC-ped

3000

2500

2000

1500

1000
500

0

APV channel

m...d .. . 4 o A Nl

10

107

10

10°

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 13:38:21 2012

[ADC MPV for RDO=2,ARM=3,APV=17

MPV (ADC-ped)

APV channel

[ ADC MPV for RDO=2,ARM=3,APV=18 "}

MPV (ADC-ped)

—
1500 p—
h—
1000 f——
—
500 p—
L—
—
0 b—
500 = i . . . i . . . i . . . i . . . i . . . i
£22h o 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=19 |

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500
APV channel

[ ADC MPV for RDO=2,ARM=3,APV=21 "}

MPV (ADC-ped)

1500 [
1000 [+

500 [+

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel

-500




run_13101038 FGT _RMS 1, Timebin=2,Disc=4,asmb=4CD
Tue Apr 10 13:38:53 2012

[ADC RMS for RDO=2,ARM=3,APV=17 _}

RMS (ADC-ped)

200
180
160
140
120
100
80
60
40
20

0

1|r|1]|r|]1|r|11|[|11|r|1||r|]1|r|1

<"I1I[

APV channel

[ ADC RMS for RDO=2,ARM=3,APV=18 "}

RMS (ADC-ped)

240
220
200
180
160
140
120
100
80
60
40
20
0

T I1I|1Ir|

TR

'|HI|

1
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=19 }

RMS (ADC-ped)

200
180
160

140

120

100

80

60
40

20

0

1
120
APV channel

RMS (ADC-ped)

220
200
180
160

140 p=

120
100

80 [
60

40
20
0

i
120
APV channel

[ ADC RMS for RDO=2,ARM=3,APV=21 "}

RMS (ADC-ped)

160
—

—
140

120 fr

100

80

60

40

20

120
APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 13:37:41 2012

[ADC for FGT RDO=2,ARM=4,APV=0 } [ ADC for FGT RDO=2,ARM=4,APV=0 |
= 4000 p—
5] =
i =
Q 3500 fm—
< =
3000 f=—
=
2500 f=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
o i i i = i i i i i i
0 1000 2000 3000 4000 0 20 40 60 80 100 12
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=1 } [ ADC for FGT RDO=2,ARM=4,APV=1 "}
L - 4000 p—
3 F-- 5] = . . . . . .
2 1 g =
(8] Q —
9 9 3500 =
< < =
0.8} - 3000 f=—
2500 fm—
0.6~ - 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
0.2~ - 500 =
2 2 5 =
: : [ ===
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=2 } [ ADC for FGT RDO=2,ARM=4,APV=2 "}
L - 4000 p—=
8 qf-- g = . . . . . .
g g = 2 2 2 2 2 2
Q Q —
Q Q 3500 f=
< < =
08k - 3000 fF=—
o
2500 f=—
=
06~ 2000 fm—
=
1500 f=——
0.4f-- =
1000 fP=—
=
. . . 500 f=—
Tt : =
o o o 0 p=—
o i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ADC for FGT RDO=2,ARM=4,APV=3 } [ ADC for FGT RDO=2,ARM=4,APV=3 |
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
2 5 =
0 1 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=4 } [ ADC for FGT RDO=2,ARM=4,APV=4 "}
L .- 4000
1 5]
2] 3
Q Q
9 9 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
0.2f-- - - =
H H 0
0 i i i

Il
0 1000 2000 3000 4000
raw ADC APV channel




=5BC

5,asmb

iIsc=

2,D

IN=

b

Ime

Tue Apr 10 13

run_13101038_FGT_MPV_1,T

22 2012

38:

2,ARM=4,APV=0 J

[CADC MPV for RDO

120

| ._._._._... LLLLLELL 1S

500 fr—— - sr e

150
1000
-500

(pad-0av) AdW

APV channel

=1 |

ARM=4,APV:

=

[ ADC MPV for RDO

120

L

_.__.F_._._.._._._,.__.:._.

-500

(pad-0av) AdiW

APV channel

=2}

ARM=4,APV:

=2

[ ADC MPV for RDO

120

NNENES

1000

(pad-Dav) Adi

-500

APV channel

2 ARM=4,APV=3_}

[ADC MPV for RDO

LLLLL

(pad-0av) AdW

120

APV channel

=7}

ARM=4,APV:

=2

[ ADC MPV for RDO:

120

SEYRYEN

150

(pad-0av) AdiW

o

-500

APV channel



run_13101038 FGT_RMS 1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 13:38:54 2012

[CADC RMS for RDO=2,ARM=4,APV=0_J

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=1 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=2 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

[ ADC RMS for RDO=2,ARM=4,APV=4 "}

RMS (ADC-ped)

1

0.8

APV channel




run_13101038 FGT_ADC _1,Timebin=2,Disc=5,asmb=5BC

Tue Apr 10 13:37:42 2012

[ADC for FGT RDO=2,ARM=4,APV=5 }

3000

4000

raw ADC

[ADC for FGT RDO=2,ARM=4,APV=6 }

1000 2000 3000

[ADC for FGT RDO=2,ARM=4,APV=7 }

40(

raw ADC

ADC-ped

o
15}

1000 2000 3000

[ADC for FGT RDO=2,ARM=4,APV=8 }

raw ADC

4000

ADC-ped

1000 2000 3000

ADC for FGT RDO=2,ARM=4,APV=9 l

4000

raw ADC

3000
raw ADC

40(

[ADC for FGT RDO=2,ARM=4,APV=5_}
4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

° 11r|]|r|1|r|1l[n|r|1lrll|r|1|r|1|[|1n-|1rr|

[ ADC for FGT RDO=2,ARM=4,APV=6 }

APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°11II'|1TI |r|1|[|1|r|1|r|]|r| |r|1r[|1|r|1m

[ ADC for FGT RDO=2,ARM=4,APV=7 }

" 1
80 100 120
APV channel

- 4000 p—=
] = . . . . . .
g = 2 2 2 2 2 2
Q 3500 f=—
% =
3000 f=—
=
2500 =
=
2000 =
=
1500 f=——
1000 fP=——
=
500 f=—
=
==
= i i i i i i
20 20 60 80 100 120
APV channel
[ADC for FGT RDO=2,ARM=4,APV=8 }
- 4000 p—
5] = . . .
e = .
Q 3500 F=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
=
500 f=—
=
==
=
=
0

[ ADC for FGT RDO=2,ARM=4,APV=9 "}

80 100 120
APV channel

4000

3500

ADC-ped

3000

2500

2000

1500

1000

500

0

°THI'|1TI |r|1|[|1|r|1|r|]rr|1|r|1r[|1|r|nr|

APV channel

.4 .3 E...Jd i

10

10°

107

10

10°

10°




run_13101038 FGT_MPV_1,Timebin=2,Disc=5,asmb=5BC
Tue Apr 10 13:38:22 2012

[ADC MPV for RDO=2,ARM=4,APV=5__}

MPV (ADC-ped)

-500

. . ; ;
Q 20 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=6 }

MPV (ADC-ped)

[
1500 |+

1000 [+

-500

i
120
APV channel

[ADC MPV for RDO=2,ARM=4,APV=7__}

MPV (ADC-ped)

1500 [+
1000 [+

500 |-

-500

i i i
20 40 60 80 100 120
APV channel

MPV (ADC-ped)

1500
1000 f+

500 |-

-500

APV channel

[ ADC MPV for RDO=2,ARM=4,APV=9 "}

MPV (ADC-ped)

-500

1 " " " 1 " " " 1 " " " 1 " " " Il " " " Il
20 a0 0 a0 100 120
APV channel




=5BC

5,asmb

In=2,Disc=

imeb
38:54 2012

Tue Apr 10 13

run_13101038_FGT_RMS_1,T

2,ARM=4,APV=5__}

[CADC RMS for RDO

120

40

(pad-0av) sy

APV channel

2,ARM=4,APV=6 }

[ ADC RMS for RDO:

120

100

80

60

40

20

(pad-0av) sy

APV channel

2,ARM=4,APV=7 "}

[ ADC RMS for RDO:!

120

(pad-Dav) SWy

APV channel

2,ARM=4,APV=8__}

[CADC RMS for RDO

L1

(pad-0av) sy

2,

o

120

APV channel

S |

P .

ARM=4,APV:

=2

[ ADC RMS for RDO

._.:._.—:._.

120

o
S
Q

(pad-0av) sy

APV channel



run_13101038 FGT_ADC 1,Timebin=2,Disc=5,asmb=5CD
Tue Apr 10 13:37:47 2012

[ ADC for FGT RDO=2, ARM=2,APV=12 | [ ADC for FGT RDO=2,ARM=4,APV=12 |
- 4000 p—
3 =
3 =
Q 3500 fm—
< =
3000 f=—
=
2500 (=—
=
2000 f=——
=
1500 f=——
1000 f=——
=
500 fm——
=
=
8 H H 0 f—
@ i i i = i i i i i i
0 1000 2000 3000 4000 0 20 20 60 80 100 12
raw ADC APV channel
[ ADC for FGT RDO=2,ARM=4,APV=13 | [ ADC for FGT RDO=2,ARM=4,APV=13 "}
L - 4000 p—
g - ] = . ; ; 5 5 T
2 9 g =
(8] Q —
9 9 3500 f=
< < =
08}-- 3000 f/—
2500 fm—
06} 2000 fm—
=
1500 f=—
=
1000 p=——
2 2 2 =
02 500 =
2 2 5 =
: : ofe—
0 i i i E_. . . i . . . i . . . i . . . i . . . i . . . i
0 1000 2000 3000 4000 0 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2 ARM=4,APV=14 | [ ADC for FGT RDO=2,ARM=4,APV=14 "}
- . 4000 p=
8 qf-- 2 E . . . . . .
2 2 = 2 2 2 2 2 2
Q Q e
9 g 3500 =
< < =
osk-- 3000 =—
=
2500 f=—
=
06}-- 2000 f=—
=
1500 f=——
0.4f-- =
1000 f=—
=
. . . 500 f=—
Tt . =
o o o 0 p=—
@ i i i = i i i i i i
1000 2000 3000 4000 20 20 60 80 100 120
raw ADC APV channel
[ ADC for FGT RDO=2, ARM=2,APV=15 | [ ADC for FGT RDO=2,ARM=4,APV=15 |}
- 4000 p—
] = . . .
e = .
Q 3500 f=—
< =
3000 f=—
2500 =
2000 f=—
=
1500 f=——
1000 f=——
=
500 f[=—
=
8 . . 0 p—
. 2 =
0 1 1 =
0 1000 2000 3000 4000 0 20 40 60 80 100 120
raw ADC APV channel
ADC for FGT RDO=2,ARM=4,APV=16 || [ ADC for FGT RDO=2,ARM=4,APV=16 }
L - 4000
g |- 3
2] 3
%) 9]
Q Q 3500
< <
0.8f-- 3000
2500
0.6~ 2000
1500
1000
500
02+ - - =
H H 0
0 i i i

0 1000 2000 3000 4000
raw ADC APV channel




run_13101038 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Tue Apr 10 13:38:23 2012

[ADC MPV for RDO=2,ARM=4,APV=12_}

1500 [+

MPV (ADC-ped)

1000 [5

500

-500

[ ADC MPV for RDO=2,ARM=4,APV=13 "}

[
1500 |+

MPV (ADC-ped)

1000 [+

500 |+

-500

[ ADC MPV for RDO=2,ARM=4,APV=14 "}

i i i i i i
20 40 60 80 100 120
APV channel
i
120
APV channel

1500 [+

MPV (ADC-ped)

1000 [+

500 |-

of
i i i i i i i
0Cko 20 0 50 80 100 120
APV channel
[ADC MPV for RDO=2,ARM=4,APV=15_}
5 T
3 : :
S b— :
g 1500 [+ 5
< b
> .
g :
g :
1000 f+ h
500 |-
o 5
i i i i i i i
=y Q 20, 40 60 80 100 120
APV channel

[ ADC MPV for RDO=2,ARM=4,APV=16 }

1500 |+

MPV (ADC-ped)

1000 [+

500 [+

-500

20 a0 0 a0 100 120
APV channel




run_13101038 FGT_RMS 1,Timebin=2,Disc=5,asmb=5CD
Tue Apr 10 13:38:55 2012

[ADC RMS for RDO=2,ARM=4,APV=12__}

RMS (ADC-ped)

1

[ ADC RMS for RDO=2,ARM=4,APV=13 "}

RMS (ADC-ped)

1f

0.8

0.6

0.4

0.2

. . . . . . . . . . . . . . i . . . i
0 20 40 60 80 100 120
APV channel

[ ADC RMS for RDO=2,ARM=4,APV=14 "}

RMS (ADC-ped)

1

. . i
20 40 60 80 100 120

RMS (ADC-ped)

1
08 |-

[
06 [+

04 fr
[
02 |-
[
[
o = i i i i i
0 20 40 60 80 100 120

APV channel

| ADC RMS for RDO=2,ARM=4,APV=16 }

RMS (ADC-ped)

1

0.8

APV channel




